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(Bl EEHEH) 0.090 m3 = 1.200 * 0.050 * (1.500 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 R = BEEIEHIE LS LR
(i EEHEHI) 0.090 m3 = 0.090
B ALy JE 1 |FE = wHIEIELE
(HEH) 0.432 m3 = 0.432
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 0.918 m3 = 0.918
B ALy JE 3 |HE = WHIEE L=
(HEH) 0.904 m3 = 0.904
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T T & 2 %+ B & (8 & % )
HEtEEEBS . 20000100
TiEES | 05 | THEEW [ABKEAEITEHPPE ¢ 100D = [ 06 | J—F&F |KLU#ER(800)
[EE] EHEEEEE A
4 B 1 [ = (LTEE + {BVEE + AMER + WEUER) + (GEFREIE - WEiRbig) < MFmEIR) X ok
4,000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
1.200 m2 = 0.600 * (2.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
0.288 m3 = 0.600 * 0.240 * (2.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
0.372 m3 = 0.600 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
e 3 MR = WHIE X A X (ETER + RHIER + AREE + MELER)
0.372 m3 = 0.600 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
1.200 m2 = 0.600 * (2.000 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
1.200 m2 = 0.600 * (2.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
1.200 m2 = 0.600 * (2.000 + 0.000 + 0.000 + 0.000)
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T I % E & E E iR =)
SRETETEES : 20000100 H#)%EHE]
| T@®%s | o5 | TIEE# |KBEKEAREIEHPPE 100D - &S | o6 | J—t&#  [FLU#ER(800)
JEFER R & |t 3 L 15 / it 3 =
PEHIHE O B L 1 [FE = WHE X BEA X (ETHER + RER + REER + fEER)
0.372 m3 = 0.600 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
0.368 m3 = ((0.600 * 0.310 — 0.002) * 2.000) + (0.600 * 0.310 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.060 m3 = 0.600 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 R = BEEIEHIE LS LR
(i EEHEHI) 0.060 m3 = 0.060
B ALy JE 1 |%E = EEIEUE LR
(HEH) 0.288 m3 = 0.288
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 0.372 m3 = 0.372
B ALy JE 3 |EkE = JEHIEE LA
(HEH) 0.372 m3 = 0.372
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T T & 2 %+ B & (8 & % )
HEtEEEBS . 20000100

TiEES | 05 | THEEW [ABKEAEITEHPPE ¢ 100D = [ o7 | J—F&% | (1000)

[EE] EHEEEEE A

4 B 1 [ = (LTEE + {BVEE + AMER + WEUER) + (GEFREIE - WEiRbig) < MFmEIR) X ok
16.000 m = ((8.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000

AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
4.800 m2 = 0.600 * (8.000 + 0.000 + 0.000 + 0.000)

] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
1.152 m3 = 0.600 * 0.240 * (8.000 + 0.000 + 0.000 + 0.000)
] 2 B = (GREIIRE X EX - B X (ELERE + WEER)) + GBEIIE X B4 X (RIFILE + ARLER))

3.656 m3 = ((0.600 * 0.770 — 0.005) * (8.000 + 0.000)) + (0.600 * 0.770 * (0.000 + 0.000))

LR 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
4.800 m2 = 0.600 * (8.000 + 0.000 + 0.000 + 0.000)

BAZE IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
4.800 m2 = 0.600 * (8.000 + 0.000 + 0.000 + 0.000)

BAZIE 1A 2 [l = mEE X (ETEE + RRER + RABER + WIER)
4.800 m2 = 0.600 * (8.000 + 0.000 + 0.000 + 0.000)

e 1 | = BEIE X B X (ELEE + RFER + ARER + MELER)

3.696 m3 = 0.600 * 0.770 * (8.000 + 0.000 + 0.000 + 0.000)
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t I % B X R E (HHEE)
SRETETEES : 20000100 H#)%EHE]
| T@®%s | o5 | TIEE# |KBEKEAREIEHPPE 100D - rES | 07 | —r4&#  [miE#z (1000)
JEFER R & |t 3 L 15 / it 3 =
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIEEE + RIBEE + fEERE)
(Bl EEHEH) 0.240 m3 = 0.600 * 0.050 * (8.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 |F&E = SEEEAE U LR
(EliZEHEHI) 0.240 m3 = 0.240
B ALy JE 1 |FE = wHIEIELE
(HEH) 1.152 m3 = 1.152
oy Uy ] 2 |HE = wHIEE &
(HEH!) 3.656 m3 = 3.656
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T T & 2 %+ B & (8 & % )
HEtEEEBS . 20000100
TEES | 07 | TEEW [ABKEAEIEHPPE ¢ 100Q = [ of | W—FrE#H [FEkDEAS (1350)
[EE] EHEEEEE A
4 B 1 [ = (LTEE + {BVEE + AMER + WEUER) + (GEFREIE - WEiRbig) < MFmEIR) X ok
3.200 m = ((1.600 + 0.000 + 0.000 + 0.000) + ((1.700 — 1.700) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
2.720 m2 = 1.700 * (1.600 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
0.652 m3 = 1.700 * 0.240 * (1.600 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
2.339 m3 = 1.700 * 0.860 * (1.600 + 0.000 + 0.000 + 0.000)
e 3 [BcE = (REIIE x B2 - BEE) X (LTEE + MEER) + GRHIE X 84 X (RIEIER + AREE))
2.979 m3 = ((1.700 * 1.220 — 0.212) * (1.600 + 0.000)) + (1.700 * 1.220 * (0.000 + 0.000))
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
2.720 m2 = 1.700 * (1.600 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
2.720 m2 = 1.700 * (1.600 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
2.720 m2 = 1.700 * (1.600 + 0.000 + 0.000 + 0.000)
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T I % E & E E iR =)
SRETETEES : 20000100 H#)%EHE]
| T@s&s | o7 | TIE&# |KBEKEKXEIEHPPE®100Q - rES | or | —taH | FEikSIERE (1350)
JEFER R & |t 3 L 15 / it 3 =
PEHIHE O B L 1 [FE = WHE X BEA X (ETHER + RER + REER + fEER)
2.339 m3 = 1.700 * 0.860 * (1.600 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
2.979 m3 = ((1.700 * 1.220 — 0.212) * 1.600) + (1.700 * 1.220 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.136 m3 = 1.700 * 0.050 * (1.600 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 |[FE = SRS U LR
(i EEHEHI) 0.136 m3 = 0.136
B ALy JE 1 |FE = wHIEIELE
(HEH) 0.652 m3 = 0.652
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 2.339 m3 = 2.339
B ALy JE 3 |HE = WHIEE L=
(HEH) 2.979 m3 = 2.979
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T T & 2 %+ B & (8 & % )
HEtEEEBS . 20000100
TEES | 07 | TEEW [ABKEAEIEHPPE ¢ 100Q = [ 02 | IW—F&F [FEKDIEDIEE (1550)
[EE] EHEEEEE A
4 B 1 [ = (LTEE + {BVEE + AMER + WEUER) + (GEFREIE - WEiRbig) < MFmEIR) X ok
3.280 m = ((1.640 + 0.000 + 0.000 + 0.000) + ((0.900 — 0.900) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
1.476 m2 = 0.900 * (1.640 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
0.354 m3 = 0.900 * 0.240 * (1.640 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
1.564 m3 = 0.900 * 1.060 * (1.640 + 0.000 + 0.000 + 0.000)
e 3 [BcE = (REIIE x B2 - BEE) X (LTEE + MEER) + GRHIE X 84 X (RIEIER + AREE))
0.808 m3 = ((0.900 * 0.560 — 0.011) * (1.640 + 0.000)) + (0.900 * 0.560 * (0.000 + 0.000))
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
1.476 m2 = 0.900 * (1.640 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
1.476 m2 = 0.900 * (1.640 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
1.476 m2 = 0.900 * (1.640 + 0.000 + 0.000 + 0.000)
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T I % E & E E iR =)
SRETETEES : 20000100 H#)%EHE]
| T@s&s | o7 | TIE&# |KBEKEKXEIEHPPE®100Q - &S [ 02 | IW—F&F [FEKDIEDIEE (1550)
JEFER R & |t 3 L 15 / it 3 =
PEHIHE O B L 1 [FE = WHE X BEA X (ETHER + RER + REER + fEER)
1.564 m3 = 0.900 * 1.060 * (1.640 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
0.808 m3 = ((0.900 * 0.560 — 0.011) * 1.640) + (0.900 * 0.560 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.073 m3 = 0.900 * 0.050 * (1.640 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 R = BEEIEHIE LS LR
(i EEHEHI) 0.073 m3 = 0.073
B ALy JE 1 |%E = EEIEUE LR
(HEH) 0.354 m3 = 0.354
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 1.564 m3 = 1.564
B ALy JE 3 |EkE = JEHIEE LA
(HEH) 0.808 m3 = 0.808
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+T T &% E ft E & (& B % )
SRETEEEES . 20000100
TEES | 07 | TEEW [ABKEAEIEHPPE ¢ 100Q - rES | 03 | J—haH | FEiksIEARE (1000)
JEFE R IEI Gl B Al 15l / it B M
R 1 = ((BTER + RIEVIER + 3URIER + WL R) + (GEFRANE - SmiEaig) X fkFREITE)) X Bialik
2.800 m = ((1.400 + 0.000 + 0.000 + 0.000) + ((1.150 — 1.150) * 0.000)) * 2.000
(Rl 1 |FE = AR X (ELER + RIEER + ER + EIER)
1.610 m2 = 1.150 * (1.400 + 0.000 + 0.000 + 0.000)
JHE 1 |[FE = BElE X A X (ETIER + RIEER + AER + MEER)
0.241 m3 = 1.150 * 0.150 * (1.400 + 0.000 + 0.000 + 0.000)
I 2 |FdE = HBHIE X JBEA X (RTIER + RIEEERE + SRITEE + MEER)
0.982 m3 = 1. 150 * 0.610 * (1.400 + 0.000 + 0.000 + 0.000)
JHE 3 [ = (HRHIE X JEAH - BEE) X (LLIERE + ZEER)) + (RAE X JEH X (RIIEE + RAIEERE))
1.130 m3 = ((1.150 * 0.710 - 0.009) * (1.400 + 0.000)) + (1.150 * 0.710 * (0.000 + 0.000))
EiEIEIH 1 |FdE = AR X (ELER + RIEER + 3UER + EIER)
1.610 m2 = 1.150 * (1.400 + 0.000 + 0.000 + 0.000)
AT IH 1 |[EE = g X (ETER + RIBER + RIEER + MEER)
1.610 m2 = 1.150 * (1.400 + 0.000 + 0.000 + 0.000)
FEEIE D R L 1 | = AR X JEAR X (ETER + RIBEE + RIBLER + MEER)
0.982 m3 = 1. 150 * 0.610 * (1.400 + 0.000 + 0.000 + 0.000)
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+T T &% E ft E & (& B % )
BRETEEIEES - 20000100 H#HEE]
| T@s&s | o7 | TIE&# |KBEKEKXEIEHPPE®100Q - rES | 03 | J—haH | FEiksIEARE (1000)
JEFE R IEI Gl B Al 15l / it B M
FEHIH D R L 2 |EdE = (ARHNE X JEH - BEf) X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
1.130 m3 = ((1.150 % 0.710 — 0.009) * 1.400) + (1.150 * 0.710 * (0.000 + 0.000 + 0.000))
Ay )E 1 |&hEHRE R = WElE X JBEA X (ETIER + RIIEE + AERE + WMEER)
(ElZEHmA) 0.064 m3 = 1.150 * 0.040 * (1.400 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(ElZE9m ) 0.064 m3 = 0.064
Ay )E 1 | FE = A LS
(PR H) 0.241 m3 = 0.241
Ay )E 2 | = WEHIZE2E LA
(HEHI) 0.982 m3 = 0.982
Ay )E 3 |[FdE = HEHIZEE L
(FEHI) 1.130 m3 = 1.130
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T T & 2 %+ B & (8 & % )
HEtEEEBS . 20000100
TEES | 07 | TEEW [ABKEAEIEHPPE ¢ 100Q = | 04 | IW—F8F [FEKD K IEE (1000)
[EE] EHEEEEE A
4 B 1 [ = (LTEE + {BVEE + AMER + WEUER) + (GEFREIE - WEiRbig) < MFmEIR) X ok
3.280 m = ((1.640 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
0.984 m2 = 0.600 * (1.640 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
0.236 m3 = 0.600 * 0.240 * (1.640 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
0.501 m3 = 0.600 * 0.510 * (1.640 + 0.000 + 0.000 + 0.000)
e 3 [BcE = (REIIE x B2 - BEE) X (LTEE + MEER) + GRHIE X 84 X (RIEIER + AREE))
0.533 m3 = ((0.600 * 0.560 — 0.011) * (1.640 + 0.000)) + (0.600 * 0.560 * (0.000 + 0.000))
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
0.984 m2 = 0.600 * (1.640 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
0.984 m2 = 0.600 * (1.640 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
0.984 m2 = 0.600 * (1.640 + 0.000 + 0.000 + 0.000)
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T I % E & E E iR =)
SRETETEES : 20000100 H#)%EHE]
| T@s&s | o7 | TIE&# |KBEKEKXEIEHPPE®100Q - &S | 04 | IW—F8F [FEKD K IEE (1000)
JEFER R & |t 3 L 15 / it 3 =
PEHIHE O B L 1 [FE = WHE X BEA X (ETHER + RER + REER + fEER)
0.501 m3 = 0.600 * 0.510 * (1.640 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
0.533 m3 = ((0.600 * 0.560 — 0.011) * 1.640) + (0.600 * 0.560 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.049 m3 = 0.600 * 0.050 * (1.640 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 |FE = SEEEE e L&
(i EEHEHI) 0.049 m3 = 0.049
B ALy JE 1 |%E = EEIEUE LR
(HEH) 0.236 m3 = 0.236
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 0.501 m3 = 0.501
B ALy JE 3 |EkE = JEHIEE LA
(HEH) 0.533 m3 = 0.533
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+T T &% E ft E & (& B % )
BRETEEEES 20000100
TEES | 07 | TEEW [ABKEAEIEHPPE ¢ 100Q - rES | o5 | J—r4&#  [miE#ER (1000)
JEFE R IEI Gl B JL - Hl / it B M
S B 1 [ = (BEE + MBVIEE + RIMEE + HEUER) + (GREFIRHIE - S mimRsig) X MFmEHTR) X Gk
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
SR 1 & = mhlE X (ETER + REEE + RIEEE + BELE)
1.200 m2 = 0.600 * (2.000 + 0.000 + 0.000 + 0.000)
Hi 1) 1 [ = AR X BA X (ETER + RREE + RIEERE + BELE)
0.288 m3 = 0.600 * 0.240 * (2.000 + 0.000 + 0.000 + 0.000)
i1 2 Bk = mEE X EA X (ETIER + R/IEE + RITEE + MEEE)
0.372 m3 = 0.600 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
Hi 1) 3 % - WHINE X ER X (ETEE + RUEE + RUREE + HEUER)
0.444 m3 = 0.600 * 0.370 * (2.000 + 0.000 + 0.000 + 0.000)
S 1 % = mhliE X (ETER + REEE + RIWERE + BELE)
1.200 m2 = 0.600 * (2.000 + 0.000 + 0.000 + 0.000)
AR I 1 [ = WEE X (EIEE + RIEE + EEE + BEER)
1.200 m2 = 0.600 * (2.000 + 0.000 + 0.000 + 0.000)
AR IR 2 [BE - EWEIE X (ETHE + RUEE + RIELE + HEIER)
1.200 m2 = 0.600 * (2.000 + 0.000 + 0.000 + 0.000)
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T T &% E & B & i E = )
BRETEEIEES - 20000100 H#HEE]
[ g5 | o | I#4&% [A%KEAEISHPPEQ100Q [\-r&S | 05 | —r&#  [dE#Ek(1000)
JEFE R IEI Gl B Al 15l / it B M
FEHIH D R L 1 i = JEAE X JEAR X (ETER + RIER + 3L R + MBI R)
0.372 m3 = 0.600 * 0.310 * (2.000 + 0.000 + 0.000 + 0.000)
FEEIE D B L 2 |FdE = (GRHIE X JBEA - BEf) X BLIER) + (RHIE X )B4 X (RIBIEE + ST E + MEER))
0.422 m3 = ((0.600 * 0.370 — 0.011) * 2.000) + (0.600 * 0.370 * (0.000 + 0.000 + 0.000))
Ay )E 1 |SERAIE: = AR X B4 X (ETEE + RIEE + RIBEE + WEER)
(ElZE9m ) 0.060 m3 = 0.600 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 |[FE = SRS U LR
CEES D) 0.060 m3 = 0. 060
Ay )E 1 |FE = wHIEIELE
(HEHI) 0.288 m3 = 0.288
Ay )E 2 |FiE = WEHIZEE L&
(FEHI) 0.372 m3 = 0.372
Ay )E 3 |HE = WHIEE L=
(FEH) 0.444 m3 = 0. 444
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T T & 2 %+ B & (8 & % )
HEtEEEBS . 20000100
TEES | 07 | TEEW [ABKEAEIEHPPE ¢ 100Q = | o6 | W—r&#H [d#E#E%(1550)
[EE] EHEEEEE A
4 B 1 [ = (LTEE + {BVEE + AMER + WEUER) + (GEFREIE - WEiRbig) < MFmEIR) X ok
2.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((0.900 — 0.900) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
0.900 m2 = 0.900 * (1.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
0.216 m3 = 0.900 * 0.240 * (1.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
0.954 m3 = 0.900 * 1.060 * (1.000 + 0.000 + 0.000 + 0.000)
e 3 MR = WHIE X A X (ETER + RHIER + AREE + MELER)
0.333 m3 = 0.900 * 0.370 * (1.000 + 0.000 + 0.000 + 0.000)
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
0.900 m2 = 0.900 * (1.000 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
0.900 m2 = 0.900 * (1.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
0.900 m2 = 0.900 * (1.000 + 0.000 + 0.000 + 0.000)
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T T % E 8 E E (fF B % )
SRETETEES : 20000100 H#)%EHE]
[ TrE®EE [ 07 | IHE&%H [ABRKEREIEHPPEQI00Q [L—rES [ o6 | JL—r&% [miE#EE(1550)
JEFER R & |t 3 L 15 / it 3 =
PEHIHE O B L 1 [FE = WHE X BEA X (ETHER + RER + REER + fEER)
0.954 m3 = 0.900 * 1.060 * (1.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
0.322 m3 = ((0.900 * 0.370 — 0.011) * 1.000) + (0.900 * 0.370 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |BSER R = IR X BEA X (TR + {EERE + TR + MEIER)
(Bl EEHEH) 0.045 m3 = 0.900 * 0.050 * (1.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 R = BEEIEHIE LS LR
(i EEHEHI) 0.045 m3 = 0.045
B ALy JE 1 |%E = EEIEUE LR
(HEH) 0.216 m3 = 0.216
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 0.954 m3 = 0.954
B ALy JE 3 |EkE = JEHIEE LA
(HEH) 0.333 m3 = 0.333
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+T T &% E ft E & (& B % )
BRETEEEES 20000100
TEES | 07 | TEEW [ABKEAEIEHPPE ¢ 100Q - rES | 07 | J—r&#  [mERIET (1000)
JEFE R IEI Gl B JL - Hl / it B M
S B 1 [ = (BEE + MBVIEE + RIMEE + HEUER) + (GREFIRHIE - S mimRsig) X MFmEHTR) X Gk
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 2.000
SR 1 & = mhlE X (ETER + REEE + RIEEE + BELE)
2.000 m2 = 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
Hi 1) 1 [ = AR X BA X (ETER + RREE + RIEERE + BELE)
1.300 m3 = 1.000 * 0.650 * (2.000 + 0.000 + 0.000 + 0.000)
i1 2 Bk = mEE X EA X (ETIER + R/IEE + RITEE + MEEE)
0.600 m3 = 1.000 * 0.300 * (2.000 + 0.000 + 0.000 + 0.000)
SN 1 [ = BEE X (EIJEE + RIEE + MEEE + BEER)
2.000 m2 = 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
AR IR 1 % = mhliE X (ETER + REEE + RIWERE + BELE)
2.000 m2 = 1.000 * (2.000 + 0.000 + 0.000 + 0.000)
SR B L 1 [ = AR X BA X (ETER + REEE + RIWIERE + BELE)
0.820 m3 = 1.000 * 0.410 * (2.000 + 0.000 + 0.000 + 0.000)
HREIHD B L 2 |Hdk = mElE X EA X (TR + /MIEE + RIEE + MEEE)
0.600 m3 = 1.000 * 0.300 * (2.000 + 0.000 + 0.000 + 0.000)
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T T % E 8 E E (fF B % )
SRETETEES : 20000100 H#)%EHE]
| T@s&s | o7 | TIE&# |KBEKEKXEIEHPPE®100Q - rES | 07 | J—r&#  [mERIET (1000)
JEFER R & |t 3 L 15 / it 3 =
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIEEE + RIBEE + fEERE)
(Bl EEHEH) 0.100 m3 = 1.000 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 |F&E = SEEEAE U LR
(EliZEHEHI) 0.100 m3 = 0.100
B ALy JE 1 |FE = wHIEIELE
(HEH) 1.300 m3 = 1.300
oy Uy ] 2 |HE = wHIEE &
(HEH!) 0.600 m3 = 0.600
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T T & 2 %+ B & (8 & % )
BEHEEEES . 20000100
TEEE | 0o | TEEH [AZEAEISE [L—+&E [ o1 | JL—r&% [mEeE 000)
Ji& ) EHEEE A
AL 1 [ = (ETHEE + 2RVIEE + AIREE + WEER) + (GETENIE - %amEiE) < #FmEi) X oEk
4,000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.500 — 1.500) * 0.000)) * 2.000
SR 1 [ = BEIE X (ETIEE + RIFLE + AREE + MEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
SN 1 [ = WEE X EH X (FTHEE + RRER + ABER + WELER)
0.720 m3 = 1.500 * 0.240 * (2.000 + 0.000 + 0.000 + 0.000)
SN 2 [B = JEIE X EH X (ELIER + REIER + AWIEE + MEIER)
1.530 m3 = 1.500 * 0.510 * (2.000 + 0.000 + 0.000 + 0.000)
SN 3 B = (GREIE X B2 - @) X (ELER + MEER)) + GENIIE X B4 X (RIFILE + ARER))
1.458 m3 = ((1.500 * 0.490 - 0.006) * (2.000 + 0.000)) + (1.500 * 0.490 * (0.000 + 0.000))
ML IH 1 [ = BEIE X (ETIEE + RIFLE + AREE + MELER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
AR 1 H 1 [BE = R X (ETIHEE + AWIERE + ARERE + WMEER)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)
HAE1E H 2 B = WEIE X (ETEE + 2MER + ABER + MELR)
3.000 m2 = 1.500 * (2.000 + 0.000 + 0.000 + 0.000)

_29_

kT 2 AKE R




T T % E 8 E E (fF B % )
SRETETEES : 20000100 H#)%EHE]
[ TrE®Es [ 09 | IHEEH [AREARISE [L—rES | o [ —r&%  [dE8%E (1000)
JEF | & |t 3 L 151 / it B =
PEHIHE O R L 1 [%&E = WHE X BEA X (FTIERE + RIIEE + RIIERE + MEIER)
1.530 m3 = 1.500 * 0.510 * (2.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
1.458 m3 = ((1.500 * 0.490 - 0.006) * 2.000) + (1.500 * 0.490 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |BSER R = IR X BEA X (TR + {EERE + TR + MEIER)
(Bl EEHEH) 0.150 m3 = 1.500 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 R = BEEIEHIE LS LR
(i EEHEHI) 0.150 m3 = 0.150
B ALy JE 1 |%E = EEIEUE LR
(HEH) 0.720 m3 = 0.720
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 1.530 m3 = 1.530
B ALy JE 3 |EkE = JEHIEE LA
(HEH) 1.458 m3 = 1.458
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T T & 2 %+ B & (8 & % )
HEtEEEBS . 20000100
THEEES | 09 | ITHEEW |[RIENERIE = [ 02 | wW—r&% [d#E#E%(800)
[EE] EHEEEEE A
A B 1 R = (ETHEE + ARVIER + AREE + MEER) + (KRG - MW@ mbg) X FmEmiL) X Gk
12.000 m = ((6.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
3.600 m2 = 0.600 * (6.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
0.864 m3 = 0.600 * 0.240 * (6.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
1.116 m3 = 0.600 * 0.310 * (6.000 + 0.000 + 0.000 + 0.000)
e 3 MR = WHIE X A X (ETER + RHIER + AREE + MELER)
1.224 m3 = 0.600 * 0.340 * (6.000 + 0.000 + 0.000 + 0.000)
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
3.600 m2 = 0.600 * (6.000 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
3.600 m2 = 0.600 * (6.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)
3.600 m2 = 0.600 * (6.000 + 0.000 + 0.000 + 0.000)
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T I % E & E E iR =)
SRETETEES : 20000100 H#)%EHE]
[ T@E=E | 09 [ I@E%H [AZHARIS - &S [ 02 | J—r&% |whiE#iEk(800)
JEF | & |t 3 L 151 / it B =
PEHIHE O R L 1 [%&E = WHE X BEA X (FTIERE + RIIEE + RIIERE + MEIER)
1.116 m3 = 0.600 * 0.310 * (6.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
1.188 m3 = ((0.600 * 0.340 - 0.006) * 6.000) + (0.600 * 0.340 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.180 m3 = 0.600 * 0.050 * (6.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 |FE = SEEEE e L&
(i EEHEHI) 0.180 m3 = 0.180
B ALy JE 1 |%E = EEIEUE LR
(HEH) 0.864 m3 = 0.864
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 1.116 m3 = 1.116
B ALy JE 3 |EkE = JEHIEE LA
(HEHI) 1.224 m3 = 1.224
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T T & 2 %+ B & (8 & % )
BEHEEEES . 20000100

TEEE | 0o | TEEH [AZEAEISE [L—+&E [ 03 | JL—r&% [miE#s (1000)

Ji& ) EHEEE A

AL 1 [ = (ETHEE + 2RVIEE + AIREE + WEER) + (GETENIE - %amEiE) < #FmEi) X oEk
20.000 m = ((10.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000

SR 1 [ = BEIE X (ETIEE + RIFLE + AREE + MEER)
6.000 m2 = 0.600 * (10.000 + 0.000 + 0.000 + 0.000)

SN 1 [ = WEE X EH X (FTHEE + RRER + ABER + WELER)
1. 440 m3 = 0.600 * 0.240 * (10.000 + 0.000 + 0.000 + 0.000)
SN 2 B = (GERIE X B4 - B X (ELER + MEER)) + GEHIE X FEh X (REEE + AWIER))

4.530 m3 = ((0.600 * 0.760 — 0.003) * (10.000 + 0.000)) + (0.600 * 0.760 * (0.000 + 0.000))

ShE IR 1 [ = R X (ETIEE + AWIERE + ARIER + WMEER)
6.000 m2 = 0.600 * (10.000 + 0.000 + 0.000 + 0.000)

P AETE H 1 [ = BEIE X (ETIEE + RIFLE + AREE + MELER)
6.000 m2 = 0.600 * (10.000 + 0.000 + 0.000 + 0.000)

AR 1 H 2 [ = BEE X (ETHER + R/ER + AWIER + MEER)
6.000 m2 = 0.600 * (10.000 + 0.000 + 0.000 + 0.000)

IRE 5 L 1 %R = AR X B4 X (ELER + RIBER + AMER + MEER)

4.560 m3 = 0.600 * 0.760 * (10.000 + 0.000 + 0.000 + 0.000)
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t I % B X R E (HHEE)
SRETETEES : 20000100 H#)%EHE]
| T@E&s | 00 | TIEEWM |[AEHEAMEIE - &S | 03 | J—F&% | (1000)
JEF | & |t 3 L 151 / it B =
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIEEE + RIBLEE + fEER)
(2R H) 0.300 m3 = 0.600 * 0.050 * (10.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 |FE = SEmEE e L&
(EliZEHEHI) 0.300 m3 = 0.300
B ALy JE 1 |%E = EEIEUE LR
(HEH) 1. 440 m3 = 1.440
oy Uy ] 2 |HE = wHIEE &
(HEH!) 4.530 m3 = 4.530
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T T & 2 %+ B & (8 & % )
HEtEEEBS . 20000100
TiEES | 11 THEEH |[ABBKEIS = | o1 | IW—+&F [#KkEHZ S50
[EE] EHEEEEE A
A B 1 R = (ETHEE + ARVIER + AREE + MEER) + (KRG - MW@ mbg) X FmEmiL) X Gk
20.000 m = ((10.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
6.000 m2 = 0.600 * (10.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
1. 440 m3 = 0.600 * 0.240 * (10.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
1.860 m3 = 0.600 * 0.310 * (10.000 + 0.000 + 0.000 + 0.000)
e 3 MR = WHIE X A X (ETER + RHIER + AREE + MELER)
1.860 m3 = 0.600 * 0.310 * (10.000 + 0.000 + 0.000 + 0.000)
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
6.000 m2 = 0.600 * (10.000 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
6.000 m2 = 0.600 * (10.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)

6.000 m2 = 0.600 * (10.000 + 0.000 + 0.000 + 0.000)
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T I % E H E & (8 &8 % )
SRETETEES : 20000100 H#)%EHE]
| T8 | 1 | I@E%% |[FAEEKEIS - &S | oo | —t8%H  [#BKEHERG50
JEF | & |t 3 L 151 / it B =
PEHIHE O R L 1 [%&E = WHE X BEA X (FTIERE + RIIEE + RIIERE + MEIER)
1.860 m3 = 0.600 * 0.310 * (10.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((REIE X B - FhfE) X LTHER) + (RAE X BEA X (RIFEE + RIIEE + MEIER))
1.840 m3 = ((0.600 * 0.310 - 0.002) * 10.000) + (0.600 * 0.310 * (0.000 + 0.000 + 0.000))
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(2R H) 0.300 m3 = 0.600 * 0.050 * (10.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 |FE = SEEEE e L&
(i EEHEHI) 0.300 m3 = 0.300
B ALy JE 1 |%E = EEIEUE LR
(HEH) 1. 440 m3 = 1.440
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 1.860 m3 = 1.860
B ALy JE 3 |EkE = JEHIEE LA
(HEH) 1.860 m3 = 1.860
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T T & 2 %+ B & (8 & % )
HEtEEEBS . 20000100
TiEES | 11 THEEH |[ABBKEIS = | 02 | IW—+&% [#kETZS20
[EE] EHEEEEE A
A B 1 R = (ETHEE + ARVIER + AREE + MEER) + (KRG - MW@ mbg) X FmEmiL) X Gk
24.000 m = ((12.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
7.200 m2 = 0.600 * (12.000 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
1.728 m3 = 0.600 * 0.240 * (12.000 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
2.232 m3 = 0.600 * 0.310 * (12.000 + 0.000 + 0.000 + 0.000)
e 3 MR = WHIE X A X (ETER + RHIER + AREE + MELER)
1.944 m3 = 0.600 * 0.270 * (12.000 + 0.000 + 0.000 + 0.000)
i IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
7.200 m2 = 0.600 * (12.000 + 0.000 + 0.000 + 0.000)
BAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
7.200 m2 = 0.600 * (12.000 + 0.000 + 0.000 + 0.000)
BAZIE IR 9 [BE = WEE < (LTEE + AHIER + AREE + MEER)

7.200 m2 = 0.600 * (12.000 + 0.000 + 0.000 + 0.000)
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T I % E H E & (8 &8 % )
SRETETEES : 20000100 H#)%EHE]
| T8 | 1 | I@E%% |[FAEEKEIS - &S | 02 | —t&#H  [#BKkEHERG20
JEF | & |t 3 L 151 / it B =
PEHIHE O R L 1 [%&E = WHE X BEA X (FTIERE + RIIEE + RIIERE + MEIER)
2.232 m3 = 0.600 * 0.310 * (12.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |EE = R X JBEA X (ETHER + KEER + REER + MEER)
1.944 m3 = 0.600 * 0.270 * (12.000 + 0.000 + 0.000 + 0.000)
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIBEE + RIBLTEE + fEERE)
(Bl EEHEH) 0.360 m3 = 0.600 * 0.050 * (12.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 R = BEEIEHIE LS LR
(i EEHEHI) 0.360 m3 = 0.360
B ALy JE 1 |%E = EEIEUE LR
(HEH) 1.728 m3 = 1.728
oy Uy ] 2 |HE = wHIEE L&
(HEH!) 2.232 m3 = 2.232
B ALy JE 3 |EkE = JEHIEE LA
(HEHI) 1.944 m3 = 1.944
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T T & 2 %+ B & (8 & % )
HEtEEEBS . 20000100
TEES | 1 | TESAH |[ABREKEIE = [ 03 | JL—F&% [E#ht)E(1000)
[EE] EHEEEEE A
A B 1 R = (ETHEE + ARVIER + AREE + MEER) + (KRG - MW@ mbg) X FmEmiL) X Gk
9.000 m = ((4.500 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 2.000
AL 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
4.500 m2 = 1.000 * (4.500 + 0.000 + 0.000 + 0.000)
] 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALER)
1.080 m3 = 1.000 * 0.240 * (4.500 + 0.000 + 0.000 + 0.000)
] 2 B = WEIE X BEA X (ETHER + /EEE + ABLE + MELER)
3.195 m3 = 1.000 * 0.710 * (4.500 + 0.000 + 0.000 + 0.000)
LR 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
4.500 m2 = 1.000 * (4.500 + 0.000 + 0.000 + 0.000)
BAZE IR 1 [BE = wlE X (ETHER + AREE + AWER + MALER)
4.500 m2 = 1.000 * (4.500 + 0.000 + 0.000 + 0.000)
BAZIE 1A 2 [l = mEE X (ETEE + RRER + RABER + WIER)
4.500 m2 = 1.000 * (4.500 + 0.000 + 0.000 + 0.000)
e 1 | = BEIE X B X (ELEE + RFER + ARER + MELER)

3.195 m3 = 1.000 * 0.710 * (4.500 + 0.000 + 0.000 + 0.000)
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T I % E H E & (8 &8 % )
SRETETEES : 20000100 H#)%EHE]
| T8 | 1 | I@E%% |[FAEEKEIS - &S | 03 | J—+&#  [Etht)E (1000)
JEF | & |t 3 L 151 / it B =
o Uy ] 1 |EEEEIEE = BEE X EA X (ETIEE + RIEEE + RIBLEE + fEER)
(Bl EEHEH) 0.225 m3 = 1.000 * 0.050 * (4.500 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 R = BEEIEHIE LS LR
(EliZEHEHI) 0.225 m3 = 0.225
B ALy JE 1 |%E = EEIEUE LR
(HEH) 1.080 m3 = 1. 080
oy Uy ] 2 |HE = wHIEE &
(HEH!) 3.195 m3 = 3.195
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belm

T I #

o

iHE xR )

=
BRETEEIEES - 20000100 H#HEE]
[ T@E= | 13 | I@%#% |A&EED - rES | o1 | —r&#  [mEiTEx
JEFE R IEIN il B Al 15l / it B BN
(RSl 1 i = A IHmERE - A a0 m
165. 000 m2 = 165.000 — 0. 000
HEAREIR 1| FE = AEIRERE - AR i
165. 000 m2 = 165.000 — 0. 000
Ay )E 1 |&ERA G = OREIHER - araiEis) X &4
(ElZE9m ) 8.250 m3 = (165.000 — 0.000) * 0.050
Ay )E 1 | FE = SRERAIE S
CEES D) 8.250 m3 = 8.250
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T T &% E & B & i E = )
BRETEEIEES - 20000100 H#HEE]
[ T@E= | 13 | I@%#% |A&EED - rES | 02 | J—t&#  [HEix
JEFE R IEIN il B Al 15l / it B BN
(RSl 1 i = A IHmERE - A a0 m
270.000 m2 = 270.000 — 0. 000
HEAREIR 1| FE = AEIRERE - AR i
270.000 m2 = 270.000 — 0. 000
Ay )E 1 |&ERA G = OREIHER - araiEis) X &4
(ElZE9m ) 10.800 m3 = (270.000 — 0.000) * 0.040
Ay )E 1 | FE = SRERAIE S
CEES D) 10. 800 m3 = 10. 800
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belm

T I #

o

iHE xR )

=
BRETEEIEES - 20000100 H#HEE]
[ T@E= [ 1 | I@%% |[AEEQ - rES | o1 | —r&#  [mEiTEx
JEFE R IEIN il B Al 15l / it B BN
(RSl 1 i = A IHmERE - A a0 m
12.000 m2 = 12.000 - 0. 000
HEAREIR 1| FE = AEIRERE - AR i
12.000 m2 = 12.000 - 0. 000
Ay )E 1 |&ERA G = OREIHER - araiEis) X &4
(ElZE9m ) 0.600 m3 = (12.000 — 0.000) * 0.050
Ay )E 1 | FE = SRERAIE S
CEES D) 0.600 m3 = 0.600

_43_

T T A KIE SR



+T T &% E ft E & (& B % )
BRETEEIEES - 20000100 H#HEE]

ITEEE | 14 | I@E%W |AEEQ - rES | 02 | J—t&#  [HEix
JEFE R IEIN il B Al 15l / it B BN
(RSl 1 i = A IHmERE - A a0 m

5.000 m2 = 5.000 — 0.000
HEAREIR 1| FE = AEIRERE - AR i

5.000 m2 = 5.000 — 0.000
Ay )E 1 |&ERA G = OREIHER - araiEis) X &4
(ElZE9m ) 0.200 m3 = (5.000 — 0.000) * 0.040
Ay )E 1 | FE = SRERAIE S
CEES D) 0.200 m3 = 0.200
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Tt I % B HHEE (HHEE)
SRETEEEES . 20000100
[ T@E= [ 16 | I@E% |[AEIBRKE - rES | o1 | —r&#  [mEiTEx
JE R G L A BN
(RSl 1 |[BE = RERWR - s mis
35.000 m2 = 35.000 — 0.000
HEAREIR 1 |%E = REIREEE - ek
35.000 m2 = 35.000 — 0.000
¥ 0y e 1 [Eh2EiREI AR = OREIRWRE - (s miE) X B4
(GHAEHRH]) 1.750 m3 = (35.000 — 0.000) * 0.050
Fk 45 1 |%E = MEENEUE LR
CEES D) 1.750 m3 = 1. 750
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R6. 2 A {E1E ik

KIRDIRIE - Tk A i ol = i x x X
1 1 1 3 A oS
M S ! = " et pes £ ;ﬁ =
L ® o s 5 A A H F3 L
I o = & # i
k & Y 5 B ] B
% & & =40 E =S # = &
= ©) @ ® @ ® ® @ ®
@/D*2 | ©x2*Q ®/@
(m) (m) (t/m-#0) (m) (#) (t) ([ED) (1) (/) (m)
HRA%
KiEH
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